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Date Interpretation Mixed Chart Questions for IBPS PO Pre, RRB Scale |
Pre, SBI PO Pre, IBPS Clerk Mains, Canara Bank PO, Syndicate Bank PO
and SBI Clerk Mains Exams.

DI Mixed Chart Quiz 61

Directions : Study the following line and pie chart carefully and answer the questions given
beside.

The line graph given below gives the information about exports into five different countries from India during
the two consecutive years. The pie chart given below gives the information about the percentage distribution
of imports from the five different countries into India in the year 2017. Consider India imports only from the
given five countries.

(All values are in billion dollars)
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1. In the year 2017, the total imports into India from China was 120 billion dollars then
the imports into India from Russia was how much more (In billion dollars) than that of
exports into Russia from India?

A. 95 B. 65 C.55 D.75 E. None of these

2. In the year 2016, It was trade balance between India and UK and in that year, the
import into India from UK was 10% less than that of the year 2017. In the year 2017, what
was the difference (In billion dollars) between export from India into USA and that imports
into India from USA?

A. 80 B. 60 C.75 D. 90 E. None of these

3. In the year 2017, the exports into China from India was same as the imports from
China into India then in that year, the exports into south Korea from India was how much (In
billion dollars) more than that of Imports into India from south Korea?

A. 191 B. 241 C.151 D. 112 E. None of these

4. In the year 2017, the total imports into India was 1200 billion dollars then in that year,
with how many of countries it was trade deficits? (Assume that when imports overweight
the value of exports, it is called trade deficits)

A.5 B.4 C.3 D.2 E. 1

5. The sum of total exports in the year 2017 from India into the given five countries was
how much more than (In billion dollars) that of the year 2016?

A. 115 B. 105 C. 125 D. 140 E. None of these

Correct Answers:
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Explanations:

1.

From the question, the total imports into India from China = 15% = 120 billion dollars
The total imports into India from Russia = 30%

12030
15

= 240 billion dollars
The exports into Russia from India = 175 billion dollars

The required difference = 240 — 175 = 65 billion dollars

Hence, option B is correct.

In the year 2016, the imports into India from UK = the exports into UK from India = 120 billion dollars

In the year 2017, the import into India from UK = 10% less than 120 billion dollars = 108 billion dollars =
12% of total imports into India

108 x 100
The total imports into India = —;2— = 900 billion dollars

The imports from USA into India = 20% of 900 = 180 billion dollars

The export from India into USA = 240 billion dollars

The required difference = 280 — 180 = 60 billion dollars

(assume that when imports are equal to imports from the country then it is called trade balance)

Hence, option B is correct.

In the year 2017, the exports into China from India was same as the imports from China into India = 90
= 15% of total imports

90 x 100
The total imports = % = 600 billion dollars

The total imports from south Korea into India = 23% of total imports = 23% of 600 = 138 billion dollars
The exports into south Korea from India = 250 billion dollars

The required difference = 250 — 138 = 112 billion dollars

Hence, option D is correct.




The total imports into India was 1200 billion dollars

The imports from USA = 20% of 1200 = 240

The imports from China = 15% of 1200 = 180

The imports from UK = 12% of 1200 = 144

The imports from Russia = 30% of 1200 = 360

The imports from South Korea = 23% of 1200 = 276

From the line graph, it is clear that it was trade deficits with China, UK, Russia, and South Korea

Hence, option B is correct.

The sum of total exports in the year 2017 from India into the given five countries = 240 + 90 + 160 +
175 + 250 =915 billion dollars

The sum of total exports in the year 2016 from India into the given five countries = 180+ 160 + 120 +
150 + 200 = 810 billion dollars

The required difference = 915 — 810 = 105 billion dollars

Hence, option B is correct.
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